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	 b	 The robot-knights throw the Sheriff’s gold into the 
large bath. The gold turns into a sea of hot gold.

	 c	 The Doctor can win fights with his sonic 
screwdriver and play tricks on people. It is 	
dangerous in the Sheriff’s hands.

	 d	 Without more gold, the spaceship will fly but will 
explode. The explosion will kill a lot of people.

	 e	 Robin Hood doesn’t understand these pictures. 
Why is he in these books and films? The Doctor 
says that the robots are using Robin’s story. He can 
be a hero for the people of Nottingham.

	 f	 The two explosions move people in and out of the 
story.

  9	 Open answers
10	 a	 Clara
	 b	 the Sheriff
	 c	 the young woman from Mr Quayle’s house
	 d	 robot-knights
	 e	 the Doctor 
	 f	 the Sheriff 
11	 Open answers
12	 Possible answers:
	 a	 She likes Robin Hood and the Merry Men.  And 

they think that she is lovely.
	 b	 She wants to fight the Sheriff of Nottingham.
	 c	 The gold plates send their lasers back at them.
	 d	 He wants to take every city and country in the 

world, with the help of his robot-knights.
	 e	 Radiation is coming out of it. It isn’t working well. 

When it explodes, people will die.
	 f	 He gives them hope for a happy future.
	 g	 He uses one of the Doctor’s tricks.
13 	 a ✓   b ✓   c ✗   d ✗   e ✗   f ✓   g ✗
14	 a	 The Doctor. Now he knows that Friar Tuck 

brought the gold arrow back to Sherwood
		  Forest after the contest.
	 b	 Robin Hood. The Sheriff cut his arm so he has to 

have help with his bow and arrow.
	 c	 Clara. She knows that the Doctor and Robin are 

great men.
	 d	 The Doctor. He always wants to visit real places, 

not places from children’s stories.
	 e	 Robin. He was very sad without Marian.
	 f	 The Doctor. He is happy for Robin Hood and 

Marian. They can laugh, but he doesn’t want to.
15–22 Open answers

Book key
1–2 Open answers
3	 a	 (about) 1190
	 b	 Sherwood Forest
	 c	 Clara
	 d	 in the TARDIS
4	 a quickly   b Sherwood Forest   c a spoon   d clever 
	 e trick   f Marian   g castle   h summer   
	 i bow and arrow   j dies   k loses   l robots   m wants
5 	 a	 He thinks that Robin Hood isn’t a real person.
	 b	 They work and fight with Robin Hood. They are 

like brothers.
	 c	 He thinks that they are not real people. He wants 

to show Clara.
	 d	 The Sheriff took everything from Robin Hood, and 

he is very bad to the people of Nottingham.  The 
Sheriff doesn’t like Robin Hood because he takes 
things from rich people.

	 e	 She read about the Sheriff of Nottingham and the 
contest in stories about Robin Hood when she was 
a child.

	 f	 He is old and the Sheriff can’t use him in the castle.
	 g	 The Doctor doesn’t want Robin Hood to fight the 

Sheriff.
   	 h	 They haven’t got a plan, and they fight all the time.
6	 Possible answers:
	 a	 The Doctor likes Clara, his companion and helper. 

He doesn’t like Robin Hood. He doesn’t think that 
he is real.

	 b	 Robin Hood doesn’t like the Sheriff because he is 
bad to the people of Nottingham. He thinks that 
Clara is lovely and interesting.

	 c	 To Clara, Robin Hood and the Doctor are heroes.
	 d	 The Sheriff doesn’t like Robin or the Doctor 

because they make problems for him. He can’t use 
Mr Quayle in his castle so he kills him.

7	 a	 Little John / the other Merry Men / Sherwood 
Forest

	 b	 the Sheriff / the robot-knights / the castle
	 c	 Clara / the Sheriff / the castle dining-room
	 d	 the Doctor / the ugly little man / the castle 

dungeon
	 e	 the Doctor / Robin Hood / the spaceship, in the 

castle
	 f	 Robin Hood / Clara / the spaceship
8	 Possible answers:
	 a	 The spaceship can’t fly again without a lot of gold 

for repairs.
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11	 a	 Robin Hood runs quickly down the stairs. 
	 b	 I made an arrow with a laser inside.
	 c	 Now what are we going to do?
	 d	 Three heads are better than one.
	 e	 There’s never a good time for laughing.
	 f	 I’d like to stay in Sherwood Forest.
	 g	 But perhaps she’ll come home one day.
	 h	 They look and they want to help.
12	 a 4   b 6   c 1   d 5   e 7   f 2   g 3

Progress test key
1	 a	 Robin Hood
	 b	 Will Scarlett 
	 c	 Friar Tuck
	 d	 Little John 
	 e	 the little man
	 f	 the Doctor
	 g	 Clara
	 h	 Marian 
2	 a spoon   b hours   c clothes   d Derby   e vegetables
	 f gold   g the world   h Clara
3	 a	 four
	 b	 Loxley
	 c	 the Sheriff’s 
	 d	 a big fire
	 e	 radiation 
	 f	 in the dungeon
	 g	 in the bath of gold
	 h	 Friar Tuck
	 i	 Marian
4	 a ✓   b ✗   c ✗   d ✓   e ✗   f ✗   g ✓   h ✗
5	 a gave   b put   c had   d fell   e told   f took   g loved
	 h found
6	 a 2   b 7   c 5   d 1   e 8   f 4   g 6   h 3

Discussion activities key
Open answers

Activity worksheet key
1	 a	 storybooks   b companion   c forest   d cleverer
	 e exciting   	 f conversation   g important   
	 h explodes   i dungeon   j intelligent
2	 a	 Mr Quayle
	 b	 Little John
	 c	 Alan-a-Dale
	 d	 Robin Hood
	 e	 Friar Tuck
	 f	 Clara
	 g	 Will Scarlett
	 h	 the Sheriff
	 i	 Marian
3	 a 7   b 1   c 4   d 6   e 8   f 5   g 3   h 2   
4	 a 5   b 1   c 6   d 2   e 3   f 4   
5	 a happily   b carefully   c suddenly   d coldly   e loudly
	 f sadly
6	 1 d target   2 f space   3 b poor   4 e repair 
	 5 c radiation   6 g robot   7 a laser
7	 a Friar Tuck   b Clara   c the Sheriff   d the dungeon
	 e Derby   f Robin   g a spaceship   h radiation   i water
8	
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9	 a Little John  b Clara   c Friar Tuck   d a young woman
	 e a robot-knight   f the Doctor   g Robin   
	 h the Sheriff   
10	 a	 dry → dark
	 b	 beautiful → dry
	 c	 dangerous → beautiful
	 d	 great → dangerous
	 e	 real → great
	 f	 new → real
	 g	 dark → new


